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Warm Up:

If X = 3,y = 2i, and z - m + i, then evaluate X_yz. . 4
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Example: L | NEHR

1) Jeremiah joined an exercise program to try to lose weight. Each

month he records the number of months in the program and his weight
at the end of that month.

)( Nhnnhl_l 112314567181 9 l10]11]12

Weight 2481242 812221216]12161206] 197 | 193]|185]178
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Ja Describe the correlatlon N % 6\,’h \/@ +RD 54 7 7/
CVrlte t.he regression equation. ﬁ (0 Q ? & :

c) Predict what Jeremiah's weight would e in the 13’[& Zhgs
contiued losing weight at this rate. rﬁ "'3 SL’ 7 ?

‘I_a= [73.20)

d) During what month would Jeremiah be down to 150 Ib if he
continued the same rate of weight loss?
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Type of  |Where to find it i Proberties: Increasing Decreasing
Function: | the calculator: P ) Picture: Picture:

Quadratic S Quod

g O
/éﬁ;ﬁfﬁ\ﬁln 1 x>0
R/ )< R >0

v oA RO Co

NIRRT
135D




LP1.2- Regressions.AROC.notebook March 04, 2020

Determining the MOST appropriate model for the data

Kyle finds data on the Internet about carbon dating. The following table shows the years

since an organism’s death and the concentration of C'* atoms in the organism Which

type of regression would best model this situation? Years 22“" death C:ejtjrgi lr ZT:::?
g=zx+h
' =3 0 10,000
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m
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_

Therefore, the way we determine the most appropriate model is .
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